AEZHE oA (R 98 /2 4 7] )

il s B el s B v Sl B (The] : 29
Bopnzm R 9] Al - Aol el B P 12578 | 20199 714 | 20194 HF
Abel A} A (B) o 2k (A) o AH(A+B)
37 9,335,455 44,150,553 53,486,008
s 9,335,455 44,150,553 53,486,008
Frotd xS a5 6,497,354 39,095,200 45,592,554
AAYL S 47,702 1,320,650 1,368,352
27 ¢ B2 9 A}7] A = 47,702 1,305,133 1,352,835
ZAJAEX AL 47,702 1,305,133 1,352,835
1. ZEAFAI AR R Y 47,702 1,305,133 1,352,835
7}, A A}l An) XY 47,702 1,305,133 1,352,835
D 7185 110-04 |1,673,4729 %358 x12¢= 12,920 689,939 702,859
2) A7 2RI 110-04 410,059 X35 x129= 10,945 161,280 172,225
3) 7Y 110-04 |78,5249x 24 x129= 1,975 20,640 22,615
4) A8k Bz 2=} 110-04 |265,330¢ x 3% x 43]= 3,184 3,184
5) Ax}=gt 110-04 |1,251,6609 x 354 = A11,548 55,357 43,809
6) F714o1F 110-04 [522,9109 X364 x23]= 16,650 21,000 37,650
7) Uk E 2] ) 240-02 400,000 x 367 = 400 14,000 14,400
8) HA= 320-12 |3,541,9409 x 35 = 3,123 120,845 123,968
9) =W 320-12 |1,429,14091 x35% = 4,128 45,892 50,020
10) A7 R3 320-12 |1,025,800¢ % 35% = 2,962 32,941 35,903
11) x947) QR 3 320-12 |87,3109 x35% = 624 2,432 3,056
12) 1413 320-12 (476,400 x 357 = 1,376 15,298 16,674
13) AHA B3 320-12 (333,480 x 357 = 963 10,709 11,672
A -S&TER Y 182,273 2,617,097 2,799,370
ErgersE 2,439 126,517 128,956
ExgSasstsEagd 2,439 126,517 128,956
1. 538X gdAELY 2,439 126,517 128,956
7b A AES 78 A] QA E] S 2,439 126,517 128,956
1) 7kl An 2,439 41,402 43,841
7h 7185 110-04 |30,922,9509 % 1% = 1,529 29,394 30,923
W) A= TY 110-04 [1,609,6409 x 1= 400 1,210 1,610
) 2= 320-12 |3,101,3209 x 1% = 210 2,891 3,101
2}) 4t K3 320-12 309,580 x 129 = 300 3,415 3,715
PSR 21,405 527,596 526,191
WS - A RFT TS — ATF-SFEEA Y - fFouF 1/15




(9] - )

9 A Apeluj el == NESTE 7N 120194 714 | 20194 H=
AFA AHA (B) o AH(A) o4k (A+B)

PRSI LA 21,405 527,596 526,191

1. FoAgEZZ 18 Y A1,405 151,400 149,995

7F oA d wS2d 34 1,405 151,400 149,995

1) A7) n] 1,405 62,280 60,875

7H W FE=43A 620—-11 [2,241,92094x134= A1,405 30,550 29,145

et w S FA A Y 1,210 45,423 46,633

bR i B o RPN E ) 1,210 43,203 44,413

1. A TALS Y 1,210 43,203 44,413

7}, 1 AN 1,210 42,423 43,633

1) 7123 110-04 |1,672,5809 %129 = 355 19,716 20,071

2) A7 LRI 110-04 |601,2009 x129= 555 6,660 7,215

3) A7) ol 110-04 |450,0009 x 23] = 300 600 900

AS St 150,215 1,396,082 1,546,297

St A S A A A A A 150,215 1,225,682 1,375,897

1. A A B 150,215 1,225,682 1,375,897

VAR = A RS NS Rl 100,215 100,215

1) AAm 420-02 |95,156,0009 X 4.2375%= 4,032 4,032

2) XA 95,156 95,156

7h Hlg] EA %) 420-03 132,000l X 468m'= 61,776 61,776

) oo EA X 420-03 |150,0009 x 82% = 12,300 12,300

th) W) EA 420-03 [170,0009 x 124%= 21,080 21,080

3) Al Xg)n] 420-05 |95,156,0009 X 1.08%= 1,027 1,027

U 1325454124 50,000 50,000

1) A]Adn| 50,000 50,000

7 vAE XS 620—11 [44,0009 x1,062.5m'= 46,750 46,750

) molA A x| 620—11 |3,250,0009 x 14 = 3,250 3,250

EUZEA Y 30,000 123,410 153,410

T3 En S84 st 30,000 116,210 146,210

1. A E3&Y 30,000 108,410 138,410

7 . ol nSEEA Y 11,480 11,480

1) AArd 210-06 |32,00091 x 29 x 703] = 4,480 4,480

2) $oJgx 210-01 |50,0009 X 2% x 703] = 7,000 7,000
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(9] - )

AFS e == Az 12}7 of 20194 714 | 20194 FHF

(B) o AH(A) JAH(A+B)
v R sdsAd 18,520 18,520
1) &A= 12,840 12,840
7h) ZdAr 210-06 |32,0009 x 27 x 24| 7k X 308] = 3,840 3,840
W) A (EE) 210-06 [300,0009 <19 x43]= 1,200 1,200
h 7kAlB] 310-01 [3,0009 %20 x303]= 1,800 1,800
b o= 210-03 |300,000¢ x 209 = 6,000 6,000
2) 5ot = 5,680 5,680
70 ZEAE R (LHh) 480 480
(1) 71& 210-06 |40,0009 x 89 x13]= 320 320
(2) =2 210—06 [20,0009 X 8% X 1 A]7k= 160 160
) <uk) 310-01 [50,0009 X209 x1¥= 1,000 1,000
oh) 21H] 310-01 |8,0009 x20% x53]= 800 800
2h) 7F2n] 310—01 |3,0009 x20% x23]= 120 120
ul) 22 210—07 700,0009 x 1t} x 23] = 1,400 1,400
v £98% 210—01 [94,0009 X 10% x 23] = 1,880 1,880
4 9,944 152,926 162,870
G854 9,944 152,926 162,870
1. 8l (Wee) T2 A ELY 4,868 152,926 157,794
7} A4 4,410 91,099 95,509
1) AEEAE 3,930 59,539 63,469
7H AR 110-04 97,5009 x 148 x12¥9= 1,170 1,170
W 7Ead 110-04 [120,0009 X1 x12¥= 1,440 1,440
) WEHZH| 110-04 60,0009 X1 x12¢= 720 720
) QA7 Z 110—04 |450,0009 x 27 x 23] = 600 1,200 1,800
2) A3 EA| A} 480 31,560 32,040
7H A7 57 110-04 [195,0009 X1 x12¥= 180 2,160 2,340
) A 7)Aol 110-04 450,000 X 19 x 23] = 300 600 900
U AR 458 9,353 9,811
1) Zulod =+ 320-12 |95,508,4809¥ x4.5%= 199 4,099 4,298
2) AXR3 320-12 |95,508,480¢ X 3.23%= 143 2,942 3,085
3) =elAT|QokR Y 320-12 |3,085,4809 X 7.38%= 13 217 230
4) 1853 320-12 [95,508,4809 %X 1.5%= 67 1,366 1,433
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(9] - )

AFduy el B A FA 4 20194 714 | 20194 HF

(B) o AH(A) o4k (A+B)
5) AHA R 320—12 195,508,480 X0.8%= 36 729 765
2. A S =A% 5,076 0 5,076
7} ANfEEZEZE S 5,076 5,076
1) #gak 210-01 76,0009 x12= 76 76
2) Z3Atrd (4R 4,800 4,800
7hH 7]& 210-06 [100,0009 x 1% x327= 3,200 3,200
) x3 210-06 |50,0009 x 1% x 323= 1,600 1,600
3) $994= 210-01 |50,000¢ x 2% x 23] = 200 200
210,130 125,830 115,700
s A10,130 125,830 115,700
1. AZAFZZ2 78L-Y 210,130 125,830 115,700
Zh HAZAYEZE 738 A20,000 50,000 30,000
1) A (2uh) A~ 2,500 5,000 2,500
7hH 71E 210—06 | 160,0009 x 29 x 53] = A1,600 3,200 1,600
) =3 210—06 90,0009 X 21 X 5A]7}= A900 1,800 900
2) xeFelxta 210—07 500,0009 x 3¢) x 73] = 24,500 15,000 10,500
3) AIdgd=n A 210—11 [50,00091 X160 x13]= A7,000 15,000 8,000
4) AZ A= ¢n) 210—15 400,0004 X 107]= A6,000 10,000 4,000
U, st g =g gl s 9,870 9,870
1) A=A =+ 210—01 10,0009 X 703 x13]= 700 700
2) d4ut 210-01 [100,0009¥ x12= 100 100
3) ZAAtrd (ARh) 550 550
7hH 71& 210-06 [70,000€1 x5 x 13]= 350 350
) x3 210-06 |40,0009 X5 X 1A]7k= 200 200
4) 915 210-01 |10,0009 x 3w x 10| 7k= 300 300
5) <) 310—01 20,0008 X708 x1Y= 1,400 1,400
6) 21n] 310—01 8,000 X709 x 53] = 2,800 2,800
7) ZFAn] 310-01 33,0009 X708 x 23] = 420 420
8) x}eFelxta 210-07 750,0009 x 2¢)] x 23] = 3,000 3,000
9) £ 210-01 50,0009 x12% x13]= 600 600
TSER]R £60,868 4,248,420 4,187,552
225,868 3,529,548 3,503,680
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il s B el s B v Sl B (The] : 29
Hopnm R =+ A AFduy el B s 12573 o} 20194 714 | 20194 HF
A A | A (B) qAH(A) | JAH(A+B)
7| Z=F A8 XY £25,868 3,529,548 3,503,680
1. o]z a g 217,820 3,201,720 3,183,900
7F g2 9,148 159,354 168,502
1) 39 620—03 102,726,000 = 73,924 106,650 102,726
2) A+ 620-10 |65,776,0009 = 13,072 52,704 65,776
L 258k 620-03 986,709,000 = 55,140 931,569 986,709
o}, Z8w 29,116 805,393 834,509
1) 39 620—03 |348,238,000¢= 9,836 338,402 348,238
2) A+ 620—-10 |486,271,0009= 19,280 466,991 486,271
g 1538ty A111,224 1,305,404 1,194,180
1) 29 620—03 299,612,000 = A19,099 318,711 299,612
2) A 620—10 |894,568,000¢= 792,125 986,693 894,568
2. AR AEANEAY A8,048 327,828 319,780
7F 5219 390 14,519 14,909
1) 39 620—03 19,749,0009= ~927 10,676 9,749
2) A 620-10 |5,160,0009= 1,317 3,843 5,160
L} 25k 620—03 103,444,000 = 1,764 101,680 103,444
o}, 28w 1,140 81,934 83,074
1) 39 620—03 136,057,000 = A688 36,745 36,057
2) A 620-10 47,017,000 = 1,828 45,189 47,017
7} 1Es A11,342 129,695 118,353
1) 29 620-03 |29,709,0009 = ~2,213 31,922 29,709
2) AHY 620—10 88,644,000 = 79,129 97,773 88,644
EXSES A S PR ] 235,000 255,000 220,000
TN YA ~35,000 255,000 220,000
1. 30]278x4d 235,000 255,000 220,000
7}, rwutel w8 A35,000 99,940 64,940
1) AEFoke A ¢ A35,000 95,000 60,000
7 HEZ Zolg] &%) 240-01 1,500,000 x 30€ = 15,000 60,000 45,000
W) HEAX AT A14,100 14,100
(1) &un) 310-01 0= 3,200 3,200
(2) 21n] 310-01 0= A2,560 2,560
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TFNEA LA (] - A9

=+ A - ApeI e B s 1279 | 20199 714 | 20199 HF
A A B T e (B) S AH(A) JAH(A+B)
(3) 7+21n] 310-01 |0= ~240 240
(4) 2=z 210-07 |0= A2,800 2,800
(5) A& 210-12 |0= A5,300 5,300
o) ZAREE (AR £~900 900
(1) 71= 210-06 |0= A600 600
(2) %3 210-06 |0= A 300 300
) wEZSA A5,000 15,000 10,000
(1) AP = 7n) 210-12 |0= 5,000 5,000
AN/ASEF 138,881 116,871 255,752
Z2 3 138,881 92,899 231,780
B FAAANA 138,881 63,025 201,906
1. A FA 7| AN = 138,881 63,025 201,906
7V, = SFA 7| A 138,881 63,025 201,906
1) 429 620-03 |5,460,0009= 5,460 5,460
2) 25w 620-03 |109,632,0009= 77,217 32,415 109,632
3) =gl 21,280 21,280
7hH 39 620-03 |15,880,0009= 15,880 15,880
) A 620-10 |5,400,0009 = 5,400 5,400
4) 158w 34,924 30,610 65,534
7hH 39 620-03 13,010,000 = 3,010 3,010
W) A 620-10 (62,524,000 = 31,914 30,610 62,524
AR QAR 33,234 14,160,128 14,193,362
ST R | 15,847 6,796,396 6,812,243
SRR R B 15,847 6,796,396 6,812,243
1. et 7| B89 15,847 6,746,396 6,762,243
7F 6219 620-02 808,192,000 = 18,062 816,254 808,192
U 258w 620-02 [4,218,112,000¢= 29,694 4,188,418 4,218,112
o}, 2w 620-02 |1,735,939,0009 = A5,785 1,741,724 1,735,939
AFHA A 2] 9 17,387 7,363,732 7,381,119
LGuANZ AR Y 17,387 1,138,740 1,156,127
1. 98| AA AT 17,387 1,138,740 1,156,127
7}, & 7] B3| 620-09 |1,156,127,0009 = 17,387 1,138,740 1,156,127
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(9] - )

=y RES A e Y. 12357 20199 7174 | 20199 #HF
AFA AHA (B) oA AF(A) A4k (A+B)

AANAAAE 6,156,132 16,632,034 22,788,166

IESIAF N 6,156,132 16,632,034 22,788,166

Sty A n S 747]]*1 6,156,132 16,632,034 22,788,166

1. AR 1,262,907 7,289,672 8,552,579

7}, H]—Q—E—r 205,647 252,321 457,968

1) A AMm] 420-02 197,540,0009) X 3.381%= 6,677 6,677

2) AN 197,540 238,230 435,770

7hH = P‘éi 420-03 |11,830,0009 x 144 = 165,620 165,620

W As 420-03 15,960,000 x 24 = 31,920 31,920

3) A l?—qhﬂ] 420-05 197,540,0009) X0.724%= 1,430 1,430

. R wA (o] F3) 63,060 812,586 875,646

1) AlAdn] 63,060 777,740 840,800

7hH A-h= 420-03 [21,020,0009 x 34 = 63,060 63,060

o} 2R 250,431 664,389 914,820

1) 2 A 420-02 |240,894,0004 % 3.240%= 7,803 7,803

2) Al/dH] 240,894 631,950 872,844

7H Folx 420-03 13,383,0009 X 64 = 80,298 80,298

W Al E 420—03 13,383,000¢1 x 122 = 160,596 160,596

3) Al EoH] 420-05 |240,894,0009 X 0.720%= 1,734 1,734

ok o)t 27,720 94,314 122,034

1) /\WH] 27,720 87,500 115,220

7hH A= () 420-03 11,320,000 X214 = 27,720 27,720

ol ]*gl‘i_—r 230,871 253,258 484,129

1) AAm] 420-02 221,960,0009] X 3.295%= 7,313 7,313

2) Al7dv] 221,960 239,125 461,085

7hH A= 420-03 23,660,000 X 64 = 141,960 141,960

W sfel = 420-03 400,000€ X 200m= 80,000 80,000

3) A E o) 420-05 221,960,00091 X0.720%= 1,598 1,598

vl AR 74,690 58,740 133,430

1) A]AH] 74,690 58,740 133,430

7hH 1A G= 420-03 10,670,0009 x 74 = 74,690 74,690

Ab 07 ] R 309,573 309,573

WS — FuwS]ANAANAE - wESA NN — SuA A u S s A 7/15




(9] : 2 9)

539

20194 7173

20194 H=F

AT S S ®) SHA) | SRHALB)
1) A 420-02 |293,000,0009 X 4.937%= 14,464 14,464
2) A8 (51) 293,000 293,000
7h A7 A 420-03 96,0009 X 400m'= 38,200 38,200
W) vlekw A 420-03 |142,0009 X 300m'= 42,400 42,400
o) F-HF 420-03 [10,905,0009 X 74 = 76,230 76,230
2h) WA 420-03 5,506,0009 x 154 = 82,400 82,400
ul) ZY Al 420-03 |3,598,0009 x 154 = 53,770 53,770
3) ARy 420-05 (293,000,000 X0.72%= 2,109 2,109
of. A TARY AN FH 100,915 100,915
1) A Am] 420-02 193,690,000¢ X6.7904%= 6,361 6,361
2) A’y 93,690 93,690
7H AR A A A 420-03 134,0009 X 35m'= 4,690 4,690
W) AR AN E 420—-03 (89,000,000 x 14 = 89,000 89,000
3) ARt 420-05 |93,690,0009 X 0.923%= 864 864
2. AN 5,000 68,700 73,700
7F B AEA 5,000 5,000
1) A]AdH] 5,000 5,000
7hH A= 420-03 |5,000,0008 x 14 = 5,000 5,000
3.9 - AL ANA 562,870 720,398 1,283,268
7h @ AN 562,870 720,398 1,283,268
1) A]AdH] 562,870 685,885 1,248,755
7h BEE2924Y 420-03 7,310,0009 x 124 = 87,720 87,720
W 3= 420-03 7,310,0009 x 104 = 73,100 73,100
o AEx 420-03 |7,310,0009 x 134 = 95,030 95,030
2h) itz 420-03 |7,310,000€ x 42 = 29,240 29,240
v} tjolx 420-03 [7,310,0009 x 44 = 29,240 29,240
vh B3 % 420-03 [7,310,0009 x 84 = 58,480 58,480
AH Bolx 420-03 [7,310,0009 X724 = 51,170 51,170
op) Fkx 420-03 |7,310,000€ x 82 = 58,480 58,480
21 8z 420-03 7,310,0009 x 1= 7,310 7,310
2H 13= 420-03 |7,310,0009 x84 = 58,480 58,480
7h oRxlk= 420-03 |7,310,0009 x 24 = 14,620 14,620

m

A = EFAFNAAAL — StwA A w537 Al
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(9] : 2 9)

539

20194 7173

20194 H=F

AT S S ®) ) | AHA+B)
4. AEAANA 3,157,454 6,928,418 10,085,872
A R AL 796,000 172,000 968,000
1) W33 7} 107,000 172,000 279,000
7)) 13431.(6,290m") 420-01 |70,000,0009 x 121 = 70,000 70,000
W) #le] 2 (1,327m) 420-01 |37,000,0009 x 12 = 37,000 37,000
2) YRR A 54,000 54,000
7h 3% (4,098m’) 420-02 |27,000,0004€ x 1] = 27,000 27,000
W) 1% (2,064m) 420-02 |27,000,0009 x 14 = 27,000 97,000
3) WX B 7FFA 635,000 635,000
7h 3383 (4,098m) 420—03 442,000,000 X 14 = 442,000 442,000
W) 3% (2,064m) 420-03 |193,000,0009 x 12 = 193,000 193,000
v A (A ) A 488,784 623,957 1,112,741
1) A Am] 420-02 |471,720,0009 X 2.8975%= 13,668 13,668
2) AlAdH] 471,720 593,280 1,065,000
7hH 1FZ % 420-03 |11,040,0009 x 104 = 110,400 110,400
) 2o bi_ (2 A o] £ 8}) 420-03 |11,040,0009 x 621 = 66,240 66,240
th) Folz (v A F3H) 420-03 |14,640,0009 x 621 = 87,840 87,840
2} 6Hﬂ_,_(?l-oézﬂ n| . 3}) 420-03 |11,040,0009 x 621 = 66,240 66,240
uh) &2 & (9 A 8 420-03 |14,640,0009 x 621 = 87,840 87,840
vp) thAd 3= (2 A o) 8 420-03 |11,040,0009 x 1.5 = 16,560 16,560
AP A= (G A £ 8h) 420-03 |14,640,0009 X0.54 = 7,320 7,320
o) o}AkE (vrd A E 3 420-03 |14,640,0009 x 221 = 29,280 29,280
3) Al o] 420-05 [471,720,0009 X 0.720%= 3,396 3,396
o 1&ASERNF 1,212,692 6,019,078 7,231,770
1) A Am] 420-02 |1,160,865,000¢1 X 3.8776%= 45,013 45,013
2) A]Adn] 1,160,865 5,868,410 7,029,275
7hH AA19]3%2H 7 420-03 [134,0009 X 245m'= 32,830 32,830
W} 5T 420-03 |132,710,0009 x 32 = 398,130 398,130
BBESARG PARA R Rt 420-03 [132,710,0009 x 5.5 = 729,905 729,905
3) At 420-05 |1,160,865,000€ X 0.587%= 6,814 6.814
g2} A S 317,962 317,962
1) A]Adn] 317,962 317,962

A - EERA AN - SRAL LR A
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(9] - )

539

20194 7173

20194 H=F

AP S S ®) ) | AHA+B)
7h FEHARA9(324m) 420-03 |155,590,0009 x 121 = 155,590 155,590
wh slie]az (448m) 420-03 162,372,0009 x 14 = 162,372 162,372
vl Qb (A=, 540 it 36,270 36,270
1) AlAH] 36,270 36,270
7H 1% 420-03 |200,000¢¥ X 126m= 25,110 25,110
W) Az 420-03 200,000 X56m= 11,160 11,160
vl W 305,746 305,746
1) A2 Am] 420-02 |293,780,000¢ X 3.295%= 9,680 9,680
2) A 293,780 293,780
7h itz 420-03 |7,940,0009 X 1 7] A= 7.940 7.940
) tjo}x 420-03 |7,940,0009 X 27} 2= 15,880 15,880
h wjxkx 420-03 |7,940,0009 X 17 4= 7,940 7.940
h T4 = 420-03 |7,940,0009 X 27} &= 15,880 15,880
vh) Abslx 420-03 |7,940,000¢ X 27 &= 15,880 15,880
vh) AUz 420-03 |7,940,00094 X 57 2= 39,700 39,700
AP AAEx 420-03 |7,940,0009 X 27) &= 15,880 15,880
op) A"z 420—-03 7,940,0009 x 17 &= 7,940 7,940
Zp) ofakx 420-03 7,940,0009 X 17} &= 7,940 7,940
2} TY % 420-03 |7,940,0009 X 47 2= 31,760 31,760
7H = 420-03 |7,940,0009 X 27 &= 15,880 15,880
EH Ay = 420-03 |7,940,0009 X 17 &= 7,940 7,940
) AlgE 420-03 |7,940,000¢ x 27 &= 15,880 15,880
3hH A= 420-03 |7,940,0009 X 27) &= 15,880 15,880
7) oWtz 420-03 7,940,000 X 27)| &= 15,880 15,880
) g = 420-03 |7,940,0009 X 37} &= 23,820 23,820
o) Ty= 420—-03 |7,940,0009 X 27 &= 15,880 15,880
) g 420-03 |7,940,0009 X 27} &= 15,880 15,880
3) ATt 420-05 |293,780,0004 X0.7781%= 2,286 2,286
5. FEIFANA 752,860 794,355 1,547,215
A=y 63,423 34,904 98,327
1) A Am] 420-02 |60,180,000¢ X 5.389%= 3,243 3,243
2) Al’dn] 60,180 34,904 95,084

m

A = EFAFNAAAL — StwA A w537 Al
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3 (9] - )

A - Apelg el = R 123749 | 20199 713 | 20193 HF
A B o - (B) A Ak (A) A4 (A+B)
7h &S 420-03 |354,0009 X 170m= 60,180 60,180
(RERY B 49,316 64,097 113,413
1) AAMn 420-02 46,720,000 % 5.558%= 2,596 2,596
2) AJAn 46,720 59,276 105,996
7h A= (BAD 420-03 1292,0009 X 40m= 11,680 11,680
W) sfEla 420-03 |292,0009 X 120m= 35,040 35,040
o X% 306,295 374,165 680,460
1) A Am] 420-02 |293,180,0009 X 3.754%= 11,005 11,005
2) AN 293,180 354,106 647,286
7 S (A=) 420-03 |242,0009 X540m'= 130,680 130,680
W) &g 1 (24 420-03 |242,0009X610m'= 147,620 147,620
th g (EPR) 420-03 93,0009 X 160m'= 14,880 14,880
3) Al Eon) 420-05 |293,180,000¢ X 0.720%= 2,110 2,110
g ddEE 276,226 28,220 304,446
1) AAm] 420-02 |264,140,0009 X 3.856%= 10,185 10,185
2) AlAn] 264,140 28,220 292,360
7h &g 420-03 |1,660,0009 x129m= 214,140 214,140
W) 8] (AR S 420-03 |50,000,0009 x 12 = 50,000 50,000
3) Al Eon) 420-05 |264,140,0009 X 0.720%= 1,901 1,901
o}, S| 48,000 259,319 307,319
1) AN 48,000 247,016 295,016
7h &8 x (opshsaxA) 420-03 [48,000,0009 X 14 = 48,000 48,000
nh e A2 A 9,600 9,600
1) AlAdn) 9,600 9,600
YOR: B 420-03 96,0009 X 100m= 9,600 9,600
6. A7| A1 A AA 237,830 510,415 748,245
7}, =M A4 (LED) 170,990 510,415 681,405
1) AAm] 420-02 |163,700,0009 X 3.6685%= 6,005 6,005
2) AlAn] 163,700 484,560 648,260
7hH 13 = 420-03 |3,820,0009 X 104 = 38,200 38,200
) vz 420-03 |3,820,0009 x 52 = 19,100 19,100
o} etz 420-03 |3,820,0009 x 44 = 15,280 15,280
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(] A 9)

539

20194 7173

20194 H=F

ol = _ s A= ez}

AT S S (B) JAH(A) | AAH(A+B)
b gl = 420-03 |3,820,0009 x 124 = 45,840 45,840
) Y% (s 420-03 |30,000,0009 x 14 = 30,000 30,000
v A= 420-03 13,820,000 x 24 = 7,640 7,640
A}) o}Aabz 420-03 |3,820,0009 x 24 = 7,640 7,640
3) Al o] 420-05 |163,700,000€ X 0.7850%= 1,285 1,285
U Alekg s 30,840 30,840
1) Al 30,840 30,840
7h AUz 420-03 |771,000€] X 40KW = 30,840 30,840
. 7254 36,000 36,000
1) Al 36,000 36,000
7H 1EAG= 420-03 9,000,000 x 4= 36,000 36,000
7. A=A 10,300 0 10,300
7t stz EA 10,300 10,300
1) A]4dn] 10,300 10,300
7b &g 420-03 |10,300,000¢ x 14 = 10,300 10,300
8. A MA 93,001 166,132 259,133
4 - e | 93,001 166,132 259,133
1) A Am] 420-02 |86,270,0009 % 6.854%= 5913 5913
2) Al 86,270 155,585 241,855
7P = 420-03 |86,270,0009 x 1= 86,270 86,270
3) ARy 420-05 [86,270,000¢ X0.949%= 818 818
9. Al tANA (AHR) 73,910 44,160 118,070
7F WA 5 7t 38,000 38,000
1) 317315 (5,852m) 620—11 |38,000,000¢ x 14 = 38,000 38,000
wh, b (AeE, &78) T3 12,090 12,090
1) 2395 620—-11 200,000 X 60m= 12,090 12,090
o} W3 EH 23,820 23,820
1) 2395 620—-11 |7,940,0009 X 27 &= 15,880 15,880
2) 1HAEZ 620-11 |7,940,0009 X 17} &= 7.940 7.940
A 3,900 116,880 120,780
34 3,900 116,880 120,780
3,900 88,200 92,100
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Teba =g A 9 EOREE)

A3 =4 A5 Aol el == NESTE 1257 4 20199 7174 | 20199 #HF
AFA AFA AHA (B) of| Ak (A) oA 2H(A+B)
EARIAA 3,900 88,200 92,100
1. FTEATLFH AL 3,900 0 3,900
7} A e AN E Y] 3,900 3,900
1) 3713471 (&%) 430-01 [600,0009 x 1th= 600 600
2) 37137 (E9) 430-01 (900,000 x1t)= 900 900
3) F71AA7] (HE) 430-01 |1,200,0009 x 2t = 2,400 2,400
THARE 2,834,201 4,938,473 7,772,674
kT = R e 5 105,859 1,691,087 1,796,946
A2 18,037 49,625 67,662
ZHAALUEZ 77 18,037 49,625 67,662
1. 5 - FFAAEE 5,005 5,740 10,745
7V AR NLDEA B 210-01 |(550,0009 % 63)) + (715,000 4 x 7 x 1)) = 5,005 3,300 8,305
2. 71 EbA Ak & 13,032 0 13,032
7¢I AATEA] 8] 13,032 13,032
1) Adx 410-01 [38,0009 X 207m'= 7,866 7,866
2) Az 410-01 21,0009 X 246m'= 5,166 5,166
A uf| X) 7] & 87,822 1,490,217 1,578,039
g ul x| A 2 g 87,822 1,490,217 1,578,039
1. 28 Ax 9 87,822 1,423,167 1,510,989
7} QA A ZARQI 7 H] 87,822 266,076 353,898
1) 629 620—01 19,661,0009 x 1= 4,879 14,782 19,661
2) 25w 620—01 [19,661,0009 x17%= 82,943 251,294 334,237
+3 &g 2,724,935 3,247,386 5,972,321
71229 H] 93,524 857,517 951,041
DA DAY 93,524 857,517 951,041
1. 7139730l 91,090 594,085 685,175
7F Fa w2 AA 85,979 38,990 124,969
1) stEEgelxprg 210-02 85,979,000 x 13]= 85,979 85,979
. ZAbg 270 61,126 61,396
1) A0 An] 270 20,290 20,560
7hH A5 110-04 |(630,000€ X 19)+(270,0009 x 1) = 270 630 900
o} AFEE A NA 4,841 4,841
HE — 7|3 #e] - 7139 - 25 A I 13/15




il s B el s B v Sl B (The] : 29
wolng 84 | @A [ AF Aol o= . 145749 [ 20199 714 | 20199 H%
- TlOA A A B o - (B) oA AF(A) A4k (A+B)
1) “EH 430-01 |1,300,000€ x 1tj= 1,300 1,300
2) #AFE 430—-01 |900,000¢ x 2t} = 1,800 1,800
3) ZUH 430-01 [250,0009 x2¢)= 500 500
4) ZHE (A4,47]) 430-01 |1,000,000¢ x1tj= 1,000 1,000
5) Fojgols 430-01 (241,000 x 1= 241 241
2. 71X 2 &4 21,670 50,500 48,830
7}. *.}OJ%%H]@% A1,670 50,500 48,830
1) oH] A520 2,600 2,080
7hH # 220-01 | (20,0009 x5 x183]) — (20,0009 X 178 X 183]) = A 360 1,800 1,440
W} =y 220-01 | (40,0009 x5 x 43]) — (40,0009 X 48 x 18]) = A160 800 640
2) HF4 A1,150 10,249 9,099
7b A FE 430-01 |0= A900 900
(B an 430-01 |0= A250 250
3. BX 7122 AN 4,104 135,020 139,124
7t A A2 416 85,684 86,100
1) 4k 416 13,264 13,680
7H il 210-01 |(416,00090x297)+ (416,000 x1%) = 416 12,064 12,480
(BT o 3,688 49,336 53,024
1) Yrke-oH] 416 6,608 7,024
7 A 210—01 [(416,00090x13%)+ (416,000 x1%)= 416 5,408 5,824
2) EZujAln8] 210—-05 |(8,0009 %16 x313])+(8,000¢ x 187 x83]) = 1,152 3,968 5,120
3) ojn] 2,120 31,680 33,800
7hH T 220-01 |(20,0009x16% x603]) + (20,0009 x 27 X 498]) = 1,960 19,200 21,160
) = 220—-01 | (40,0009 % 16™ x93])+ (40,0009 x 27 x 23]) = 160 5,760 5,920
25383 7] AA A 2,631,411 2,389,869 5,021,280
SR AHA A #E 2,631,411 2,389,869 5,021,280
1. ZSALAANA 2,631,411 2,389,869 5,021,280
7F A dAHAAA = 2,631,411 2,631,411
1) A]AH] 2,596,900 2,596,900
7H Areial = 420-03 |2,643,0009 X672m'= 1,776,096 1,776,096
W) Agdesaz= 420-03 |1,678,0009 X 288m'= 483,264 483,264
b B A X 420—-03 [100,000,0009 x 12 = 100,000 100,000
W - FEN - VA HE - ASFH VAL - A SHLH AL 14/15




il s B el s B v Sl B (The] : 29
Hopnm 3 3 =+ A - ApeI e B s 1257 4 20199 7174 | 20199 #HF
AFA AFA AHA (B) oA AF(A) A4k (A+B)
) FAAEZH 420-03 [242,0009 X 650m = 157,300 157,300
vl v Z Al 420-03 [292,0009 X 120m= 35,040 35,040
v ZAF A 420-03 |6,000,0009 x 12] = 6,000 6,000
AH eFEYE 420-03 12,000,000 x 14 = 12,000 12,000
o) A elgln] 420-03 |5,000,0009 x 14 = 5,000 5,000
21 7F~14dH] 420-03 [15,000,000¢ X124 = 15,000 15,000
2} A 71919 H] 420-03 300,000 x 244t = 7,200 7,200
2) 7+aln 420-04 |2,259,360,0009 X 1.12%= 25,304 25,304
3) Al Fon] 420-05 |2,557,700,0009 X 0.36%= 9,207 9,207
ouju| R 7 ek 3,407 0 3,407
oAHH| L7 et 3,407 0 3,407
AA &S 3,407 0 3,407
1. AR ETF 3,407 0 3,407
7}, A A B2 A 3 Z A3k 3,407 3,407
1) TojER g I 710-02 3,407,000 = 3,407 3,407
WS — WFUNE - AuHD e — AuH|D T - A A EET 15/15




